
Print date: 16-3-2023

RPW EL

Nr. Item code Description Special instructions Quantity

D3 LC-1000-M-1000 Load cell 1000 M 1000 Ohm
Serial number is needed when ordering this compoment.

Mandatory for legal for trade systems.
4,0

D3 LC-1000-M-350 Load cell 1000 M 350
Serial number is needed when ordering this compoment.

Mandatory for legal for trade systems.
4,0

D3 LC-1000-350-MR-3M Load cell 1000, 350 Ohm, multi-range, 3m cable 4,0

D4 MP-BOLT-M12-45-CYL Bolt M12 x 45 socket head DIN912, 8.8 8,0

D5 MP-BOLT-M12-60-CS Bolt M12 x 60 countersunk din7991, 10.9 4,0

D7 MP-NUT-M12-LOCKNUT Nut M12 lock nut din985 4,0

D91 EB-6-LC Junction board 6xLC 1,0

D91 EB-4-LC-21-41 Junction board 4xLC 1,0

D95 MP-RING-M12 Ring M12, din125A 4,0

D106 SA-HO-SYN-JUNCTION Subassembly, Junction box with bolts and screws 1,0

D179 SAO-CA-8-0,25-3M Subassembly, cable 8x0,25 grey, 3m 1,0

Product changes reserved 1/1


